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36717 |301% Bt HFHT HY (BETIEAWL) 68118 - BEX

36718 |10 |Zotk R HY (BETIEARL) 68108 HY (B - REMER146) L

36719 |504% gegi BRREFREN HY (BETEARL) 68120 HY L

36720 |10 |BtE BEE HY (BETIEARL) 6813 »Y) #BL

36721 |10meskid &M EIRT HY (BETEARL) 68121 HY (BB - REMER146) L

36722 |601% ik IR HY (BETIEAEWL) 6512H HY iz =]
36723 |40f% gL B RRERREN HY (BETEARL) 68121 - NR—h&A<—
36724 |10 |ZotE BRREIEN HY (BETIEARL) 6813 HY (B - REMEKRILT) L

36725 |10k |zt NIEEFH HY (BETIEAWL) 651381 HY) 3L

36726 |101% Eeq NIEFT HY (BETIERW) 6H10H »H) L

36727 |304% pogi B R N HY (BETEARL) 68130 »Y) E=vag=|

36728 |30f% pogi BRREEN FREIR 6813 HY (B - REMEK146) Eevan=|

36729 |10k |zt B R N HY (BETEARL) 6812AH HY (%F - REMER146) L

36730 |30% Bk R HY (BEETIEARW) 6814H »Y) BilENE=]
36731 |10k |BH R HY (BETEAL) 68130 »Y) L

36732 |304% pogi BRREREN HY (BETIEARW) 6A9H HY HB - REMEKRILT) E=van=|
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36733 1048 gegi BRREFREN HY (BETEARL) 68111 HY (HB - REMERILT) L
36734 |304% pogi BEE HY (BETIEARL) 6A13A HY (HE - REMEKRLAT) N3
36735 |10mkim |BtE AN HY (BETIEARL) 68130 HY L
36736 |10 |BE SE R AT HY (BETIEARL) 6811H - L
36737 |104% g SRR AT HY (BETEARL) 68130 HY (F144) L
36738 |20f% pog R HY (BETIEARL) 6A12H »Y) BilEN:E=]
36739 |l0mekid B B RRATE N HY (BETEARL) 68111 HY L
36740 |104% pog R HY (BETIEARL) 6812AH - L
36741 |304% gL B RREFREN HY (BETEARL) 68128 »Y) N =]
36742 |10mRE |2tk BRREFERN HY (BETIEAEWL) 6512H HY (FR145) L
36743 |204% pogi EIRT HY (BETEARL) 6812AH - E=vag=|
36744 |10/ |2tk IR HY (BETIEAWL) 6513H HY (HF - REMEK146) L
36745 |104% 7 BRREFEN HY (BETIEAWL) 651381 - 3L
36746 101X 7 SERHT HY (BETIEARW) 6H13H »Hl) L
36747 |404% 7 oy HY (BIETIEAEWL) 68 14H - ilzN:d=]
36748 408 Btk KT HY (BETIEARL) 6A13H - NBE
36749 |104% pogi R HY (BETEAL) 6R128 HY (F1#145) L
36750 |40f% pogi IR HY (BETIEARW) 6810H »Y E=van=|
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36751 [10f% 7 BRREFTEA HY (FBETEEWL) 6H12H HY L
36752 |10f% B IR HY (EETEARW) 6811H - #L
36753 [20f% B ER™ HY (BETIEEWL) 6H13H - Ergan=|
36754 |10f% B SE 3R T HY (EETEARW) 6812H HY (FR144) HL
36755 [30f% B BRREFTEA AR 6H13H HY (FK144) Ergan=|
36756 |10f% B IR HY (EETEARW) 6512H HY HL
36757 |30% pogi SRR BT HY (BEFETIEARL) 6A13H HY (FR144) N—h &A% —
36758  |40f% i SR T HY (EETEARW) 6811H - R—haf<—
36759 |l0mskiE | B e di) HY (BETIEAEWL) 65 13H HY (FRK144) T L
36760 |10f% i & FHT HY (EETEARW) 6513H HY HL
36761 |40t i SRR BT HY (BETIERW) 68130 HY) SHE
36762 |401% 7 BRREFEA HY (BETIEARW) 6H13H HY E=yan—|
36763 |30t goqi3 SRR BT HY (BETIERW) 681301 HY (F144) Sifzyi9=]
36764 |l0m%kiE |&t IR HY (EETEARW) 6513H - Bl
36765 |10mRiE | 2% BRREFTEN fmAEIR 68138 &Y 7L
36766 |10msRimE |ZIE BEH HY (BETIEERL) 6H13H HY (B - REMERLLT) L
36767 |101% Eeqis BEH HY (EFETIEAEL) 6A13H HY (B - REMEXRLLT) 7wl
36768 |40f% Gl R0 T HY (EETEARW) 68130 HY Eeyad |
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36769 |304% gegi BRREFREN FREIR 68130 HY (F%144) E=vag=|
36770 |104% Btk SE R AT HY (BETIEARL) 6A13A HY (F#K144) L
36771 |10k |BtE B RREATE N HY (BETIEARW) 68141 HY L
36772 |10mRiE |2tk SR T HY (BETIEAWL) 6811H HY (F144) L
36773 |104% Bk BRRERREN HY (BETEARL) 68141 = L
36774 |301% ik BRREFERN HY (BETIEAL) 6510H HY W= b Z A< —
36775 |10mR | &k BRREFREN HY (BETIEAWL) 65108 HY (F#145) L
36776 |10mRimE &% ER™ HY (BIETIEAEW) 6A13H HY) (F1145) 7L
36777 |10mRE | B BRREFREN HY (BETIEAWL) 68128 HY (F#145) L
36778 |10 |Zotk BR® HY (BETIEARL) 6A12H HY (HB - REMEKR1L6) L
36779 |304% i bk HY (BETIEAWL) 643108 - ilzN:4=]
36780 |10f% Btk E(Z=i7] HY (BEETIEARW) 6811H - L
36781 |104% Bt (Zn HY (BETEARL) 6A11H HY L
36782 |604% gt S| dl=hs HY (BEETIEARW) 6812H »Y) L
36783 |401% M Jtm HY (BIETIEAEWL) 6811H - N 3=
36784 |204% gt S| dl=hs HY (BEETIEARW) 6A11H - Eevan=|
36785 |10% B 5[ l=ns) HY (BETEAL) 6812H HY L
36786 [301% 24 el ) HY (EETIEARL) 6H8H &HY) Egan=|
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36787 |301% Bt dtE HY (BETIEAEW) 68118 HY E=zan=]
36788 |30% gL sl HY (BETIEARL) 6810A HY Eeyan=|
36789 |10k |zt RERRIEFTE HY (BETIEARW) 68130 = L
36790 [|40f% pogi AR EATE W HY (BETIEARL) 6A9H HY EilzNd=]
36791 |304% gegi (ZSn HY (BETEARL) 68111 - E=vag=|
36792 |10miskim |ZIE el ) HY (EFETIEEL) 6H8H »H) L
36793  |40f% Btk s[5} HY (BETEARL) 68121 - E=vag=]
36794 |304% otk |l HY (BETIEARL) 6810H »Y) N3
36795 |401% Zi bk HY (BETIEAWL) 65108 HY E=yan=|
36796 |40f% B |l HY (BETIEARL) 6810H »Y) Eevan=|
36797 |104% 7 L&™ HY (BETIEAWL) 68118 - L
36798 |10#% pogi E(Z=i7] HY (BEETIEARW) 6810H - L
36799 |40f% B s[5} HY (BETEARL) 6A11H »Y E=vag=|
36800 |[601% 7 &M HY (BETIEARW) 6H10H - WN—h XA ~7—
36801 |40#% g s[5} HY (BETEARL) 6A11H - HE%
36802 [101% Eeqs HRERERIERTE N HY (BETIEARW) 6H13H »Hl) L
36803 |l0meskid |xM 5[ l=ns) HY (BETEAL) 68130 »Y) L
36804 |40f% pogi BNREFTE N HY (BETIEARW) 68110 - E=van=|
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36805 |301% S W HY (BETEAL) 6H12H &Y Eagan=|
36806 301K 7 B HY (BETEAL) 6H14H »HY iz 4]
36807 |l0miskim |&IE W HY (BETEAL) 6H13R HY (BB - REMER145) L
36808 |90/ L |tk B HY (BETIEAL) 6H13H HY (HEB - REMEKRILG) mL
36809 [90mLAE |Z & W HY (BETEAL) 6H10R HY (SEEMEER55) L
36810 |90/ L |k BRI HY (BETEAL) 6H13H HY (S ER55) mL
36811 |601% S W HY (BETEAL) 6H5H - 7w L
36812 |10k (&t BN HY (BETEAL) 6H6H oY mL
36813 |101% S W HY (BETEAL) 6H13H &Y 7w L
36814 |301K 7t —Bi HY (BETEAL) 6H13H - E=an|
36815 |501% 7 —BIREFTE N HY (BETIEAL) 6H12H &Y ilzN:4=]
36816 |70 7t —Bi HY (BETIEAEWL) 6H8H &Y mL
36817 |301% 7 —Bm™ HY (BETEAL) 6H10H &Y Egan=|
36818 |201K 7t K HIER 6A14H &Y NW—hZA<—
36819 |10mkis |zt KA T HY (BETEAL) 6H12H &Y mL
36820 |10k (&t BERIm AT HY (BETIEAEWL) 6A13H &Y mL
36821 |101% i BERTEET HY (BETIEAL) 6H13H &Y mL
36822 [90mLl L |BE EHREREN HY (BETIEAW) 6H13H - mL
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36823 |401K 7t ARREFTEN HY (BETEAL) 6H13H - Eagan=|
36824 |10k | =ik ARREFTERN HY (BETIEAWL) 6H14H - L
36825 |101% S “FREFTERN HY (BETEAL) 6H13H »HY L
36826 |201% S —Fm HY (BIETIEAEW) 6H14H »HY) L




